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Linear equations ]

Name

Class

The graph shown
represents which
linear equation?

i
I ETTY

2

Ay=x-8 5 I Al
B y=2x+9 =V
C y=2x-8 “'7/: ]
D y=3x-8

ﬂ

Date

What is the slope and y-intercept of
the line shown?

A slope =-2, : 1 ‘ i

y-intercept = 2 o \ ;
B slope =-2, ,!,H“}:“}
y-intercept =4 EEEE] .#7_111 Tistee
C slope = 71 y-intercept = 4

D slope = ?1 y-intercept = 2

The slopes of parallel lines are
negative reciprocals of each other.

True or false?

What is the equation of a line that goes
through the point (-2, 1) and has a slope
of 3 in point-slope form?

Avy+1=3x-2

PREVIEW

Please Sign In or Sigh Up to download
the printable version of this worksheet

Ay+2:%x+4 Dy—Z:%x—G Ay+1=%x—1 C y+1=3x-1
2 2 -1
By—2=?X+6 Cy+2=TX—4 By—1=TX—3 D y—-1=3x-3

What is the equation of a line that goes
through the origin and is parallel to the
line y = x= 3 in point-slope form?

Ay=x-1
B y=23x
Cy=x+1
Dy=x

What is the equation of a line that goes
through the point (-5, -3) and is parallel
to the x-axis?

Ay=-5
B y=-3
C x=-5
D x=-3
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